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B2. readIn(x);
case x of
: Yi=X+5;
: Y:=x*5+8;
D yi=2%x-x;
:y:=(x+x*5)div7;
>4 : y:=(xdiv3)+(xmod3);
end;
writeln(y);
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program thema3s;
var
N, i, plithos, poso: integer;
onoma: string;
begin
readIin(N);
fori=1to N do
begin
readln(onoma,plithos);
if (plithos>=1) and (plithos<=20)
then poso:=10*plithos
else
if (plithos>=21) and (plithos<=40)
then poso:=(plithos-5)*10
else
if plithos>=41
then poso:=(plithos-9)*10;
writeln(onoma,poso);
end;
end.
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OEMA A

Program thema4;

var
plithos1, plithos2: integer;
sum,poso,mo:real;
onoma:string;

begin
sum:=0;
plithos1:=0;
plithos2:=0;
repeat
writeln(‘Awoe ovopa nwAnth’);
readin(onoma);
writeln(‘Awoe to Moo TwV £TACLWV MTWANCEWV');
readln(poso);
if poso>=50000
then plithos1:=plithos1+1
else
if poso<50000
then plithos2:=plithos2+1;
SUM:=SUM+poso;
until onoma="TEAOY’
writeln(plithos1,plithos2,sum);
mo:=sum/(plithos1+plithos2);
writeln(mo:10:1);
end.
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